BFEA/>>DCSF

(BEaLZ) REBR (HMTFEL2816H)

ET ERE

M - RGN g - R H g;;; 1451 %(Ekg la
1 IrFMALMHET)I E SHTE1 286 H e A X 80 [E1E
2 EETHTTE)] SHITEL1 28 7H e 7+ 2 50 =%
3 #BIHETA SHITEL1 28 7H e s 80 [ 4%
4 HEITHR)IE] SMTELI 28 9H e A 2 70 s
b BT ZESFAT SHITEL1 289 H e A R 80 =%
6 #pIThE HEFHT SMTE1I2HB10H e s 80 =4
7 BB s AT SMTFLI2H11H e * X 40 =4
8 MpIT ="V 1=H] SMTE1 281 2H e 7+ = 50 21
9 FMBTHETHA SfcEl1 2B 8H I A R 25 =4
10 mERLETETEK SHTEL 28 8 H e A 2 25 s
11 Fa#ETHT B 25, SMTE1I2HB10H e A R 5 =
12 BB e A A SHTELI 281 2H iR ES A R 45 =4
13 SKESFHRTANE & EF SMTELI2H9E & * X 70 =4
14 BEMITLE SHITE1 28 9H HIE A R 10 =4
15 =R/ A SHMITFEL 2AH3E e *F R 40 21t
16 = EHTFAE SHITFEL12AH6E i 7 R 80 =4
17 = EHTIR R SMTE1I 2B TE iR ES * X 90 =y
18 Z=EHTIR R SHITFEL2HTE e * X 70 =4
19 EEATIRFA SHTEL 2 B 8E f s 7+ 2 60 2
20 =EHTELESF SMTE1I2H9E & * X 70 =y
21 BIRETHAR SMTEL 2HBE iR ES * X 40 21t
22 HIRETHAR SMcE1 2B 8E Wi * X 80 =y
23 HIRETAZ L SMTE1I2B11H e * 2 95 =4
24 /)NETI AT SHITE1 289 H e * 2 25 =4




